7 D'NAN DM
orbit

"IN 10N [IDTY
:0'N2N DA7WN 1A 2V 21097 W NI I [TV Nan 7y

DpN NXIpa DN on? nea w1

.190nN |I'XN NIK PINA? W alo I nTinva .2

Sy Iy NN DN XN TNV .3

.N2'0N NINI MY 190NN |IXNw N1 myun Qo2 w4
.mny .5

.D'TIN'? DI'D LITIDDY? D' N7 TIV 72 VINA7 N1 **

AT A0 =T113VA 003K

~ DTy & Dpwnn ¢ D900 = ninim [§ ovn &1 pommvo & CRM & pmn'? 1=

O MY WY MW < 007 NYAF WY < NI < 0007 Divag < DTm'? < &

o1 | 14-01 | 077 nYAE i | 10105] o T | AN AMTEX - X0 TR TV DO | L N
| U N7y 11| on ' |:325 n"Dum] nw |1 T'yyn Nioinn | 07 T¥IAP O .J;
|:v (na) | | 3¥n |v 010 | ¥ 210 )
$
@) (&= NdNe i3 M :
m m M "D oW nnown ow "'t avmn @I
| | v () | | AYEN vim 322883018 (g 3
| ﬂ | | nen R mm 207037581 (g o
| ' | | | A 1> 208552968 (g
L D79 NI9NNYN L ) ‘\’}c
|' Q0 ‘ | | TR 7 now 209531763 (g4
wm | ' ﬁ
v
n"o¥na Ay @

AN7YN 1Ay



